rorzr— Foaz7—

boazr— rorzr—

TAMO2 TAMO1 TAs TAD 68001 168002 168003 168004 168005 16B006 My “lhots. Vew "ecors” " T oM 15 Ué!‘ﬁ’/?—hol uéé‘;i’,?—“oz 'J;:AZ?—AOB TB.001s T8.022M 78208 Funk WhC Funk DbC CROSS TEN CROSS EIGHT CROSS Six CROSS FIVE "bia s JUSTicE 05
P N €N & *' *
/B_)) [ [
LY Ui \ .
=2 &3 Bzt FybFILRAZ NIE| HPCD |42 MIEHAXRRYY 9§$§$X HqZ rSAIT— J&G 7 le 077 S & b = IVITIF1L LR VTV Jarozx TR R—5— TLT1RR FYRAT12R Bz
1Y H1X =B 1Z TAMO02 TAMO1 TAS TAD JGBYY=X| LU-221 | LH-015 MCM SC025 Wos TC-02 TC-10M TC-09 TC-05 | YA /N=01] YK)L/{=02 [ Y#)L/\=03| TB-001S [ TB-022M | TB-08 |Funk WMC| FunkDDC | #0Z7Y | YHAIAb |40ZAYyHZ|H90A77147 D12 Cup 06 05
77 R3/04- FER 21HEXM12x1.25 66 |5/114.3| 20 255/45-20 20 X 8.0+45 255/45-20 20X8.5 45 45 45 8.0J45 45 8.0J45 - - - - - -
19 235/55-19 19 X 7.5+40 235/55-19 19X 8.0 45 4 45 45 8.5J45 45 -
IJZRLAL R5/04- #HT33% 21HEX M12x1.25 66 |5/114.3| 21 = = 255/40-21 21X9.0 - - 45 - - -
(MTUYEEL) 20 255/45-20 20 X 8.0+45 255/45-20 20X8.5 45 45 45 8.0J45 45 8.0J45 =
19 235/55-19 19 X 7.5+40 235/55-19 19X 8.0 - - - 45 L] 45 45 8.5J45 45 = = = - - -
18 235/60-18 18 X 7.5+40 235/60-18 18 X 8.0 45 45 45 45 45 45 7.5J38 38 - 43 40 7.0J38 38 42 7.5)38 - - - -
17 - = 225/65-17 17X 7.0 32 32 32 32 38 38 - 42 38 38 38 38 38 38 38 38 = 1.5)35 7.5J35
H25/12- #1325 66 [5/114.3| 19 225/55-19 19 X 7.0+40 225/55-19 19X 8.0 45 4 45 45 8.5J45 45 - - -
*2515-h SAFED *35-h TARD 18 225/60-18 18 X 7.0+45 225/60-18 18X 8.0 45 45 45 45 45 45 7.5)38 38 - 43 40 7.0J38 38 42 7.5)38
M7 N B 17 225/65-17 17 X 7.0+45 225/65-17 17X 7.0 32 32 32 32 38 - 38 - 2 38 38 38 38 38 38 38 38 1.5035 7.5J35
NV100+ 7Y wiN=1K> H27/03- DR17V 19HEXM12x1.25 60 | 4/100 | 12 145/80-12 12 X 4,0+45 145/80-12 12X 4.0 - - - L] 3.5J4 3.5J42 3.5)42 42 42 42 42 42 - - 3.5)42 42 -
NV100: 7Y yN=bFv o H25/12- DR64V 54 | 4/100 | 12 145/12-6PR 12 X 4.0+45 145/12-6PR 12X 4.0 - 42 3.504 42 42 42 42 42 3.5J42 42
DR16T 54 | 4/100 | 12 145/12-6PR 12 X 3.5+45 145/12-6PR 12X 4.0 2 3.5J42 3.5J82 3.5J82 42 42 42 42 42 3.5J42 42
NV100+ Y y\=Y% H27/03- DR1TW 19HEXM12x1.25 54 | 4/100 | 16 - - 165/45-16 16 X 5.0 - - 45 - - - - - - - -
15 ° ° 165/55-15 15X 4.5 45 - 45 - 43 5.0J45 45 43 45 45 45 45 45 5.0J45 45 43 5.0J45 45 - -
14 165/60-14 14 X 4.5+50 165/60-14 14X 4.5 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 = = - 13X 4.0 - - - - 43 43 45 43 43 43
H25/12- DR64W 54 | 4/100 | 14 165/60-14 14 X 4,5+50 165/60-14 14X 4.5 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 155/70-13 13 X 4.5+50 155/70-13 13X 4.0 43 43 45 43 43 43
e-NV200 H26/10- VMEO 21HEXM12x1.25 66 [5/114.3| 15 185/65-1592H 15 X 6.0+45 185/65-1592H 15X 6.0 - - - 43 45 45 45 45
NV200+ /8%y b H21/05- M20/VM20 21HEX M12x1.25 66 |4/114.3| 14 F165/14-6PLT 14 X 5.0+45 F165/14-6PLT 14X 5.0 - 42
R165/14-8PLT R165/14-8PLT
INIIVR H22/08- #HE52% 21HEX M12x1.25 66 [5/114.3| 20 = - 245/40-20 20 X 8.0 - - - 45 45 - 45 - - - - - - -
19 245/45-19 19 X 8.0+57 245/45-19 19X 8.0 45 48 45 45 7.5J48 45 48 45 - -
Y TPMSHS *TPMSE 18 225/55-18 18 X 7.5+55 225/55-18 18 X 7.0 48 7.5J55 48 48 48 48 48 48 48 48 7.5053 =
*H26/01- 17 = = 215/60-17 17X 7.0 - - - 48 48 - 48 48 48 48 48 48 48 48 = - - 1.5)42 - -
TPMSEELE 16 215/65-16 16 X 7.0+50 215/65-16 16 X 6.5 38 38 38 38 38
*TyT4 H17/06- H91/92W[4-#"] WIE141 > F 21HEXM12x1.25 56 | 4/100 | 16 - - 165/40-16 16 X 5.0 45
H91/92W[NA] 15 - - 165/50-15 15X 4.5 45 45 - 43 5.045 45 43 45 45 45 45 45 5.0J45 45 43 5.0J45 45
14 165/55-14 14 X 4.5+46 165/55-14 14X 4.5 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 155/65-13 13 X 4,0+46 155/65-13 13X 4.0 43 43 45 43 43 43
=3 R3/08- E13 21HEXM12x1.25 56 | 4/100 | 18 = - 225/40-18 18X 1.0 - - 48 - 45 46 - - - - -
17 205/50-17 17 X 6.5+40 205/50-17 17X 6.5 7.0J45 45 - 45 40 45 6.0J40 = 40 -
16 = 205/55-16 16 X 6.0 - = = 45 = 45 6.5J40 40 43 42 40 40 42 = 40
FyI2 R2/06- P15 21HEX M12x1.25 66 |5/114.3| 19 - 225/40-19 19X 75 - - 48 - -
18 - - 225/45-18 18 X 7.0 48 1.5J48 48 - 48 48 48 48 7.5J48 48
17 205/55-17 17 X 6.5+45 205/55-17 17X 1.0 48 - 48 - 48 48 6.5J44 48 48 48 48 48 48
16 - - 205/60-16 16 X 6.5 - - - - 48 48 48 48
Fv3/AYNV350 H24/06- ##E26% 21HEX M12x1.25 - |6/139.7| 17 - - 215/60-17 17X 6.5 - 48
16 = = 215/65-16 16 X 6.5 38 38 38 48
15 195/80-15 15X 5.5+45 195/80-15 15X 6.0 = 43 = - = = = = 33 33 33 43 43
185/75-15 185/75-15
*a1-7 H20/11- #712% 21HEXM12x1.25 60 | 4/100 | 17 - - 205/45-17 17X 7.0 45 45 - 45 6.5J40 6.5J45 6.0J40 6.5J40
Fa-JFa1-Evs 16 195/55-16 16 X 6.0+42 195/55-16 16 X 6.0 45 - 45 6.5J40 40 43 42 40 40 42 40 - - - - -
15 175/65-15 15 X 5.5+40 175/65-15 15X 5.5 43 - 43 43 38 43 43 6.0J42
14 - 175/70-14 14X 5.5 38 38 43 5.0J35 -
=% H24/04- HGY51% 21HEX M12x1.25 66 [5/114.3| 20 ° ° 245/40-20 20 X 8.5 45 45 - 45 8.0J45 45 8.0J45 - - - - -
(NMTVUYRELD) 19 = - 245/45-19 19X 8.0 45 42 45 45 8.5J45 45
W TPMSS 18 245/50-18 18 X 8.0+43 245/50-18 18 X 8.0 35 = 38 7.5)38 38 = 43 40 38 38 42 7.5)38 - -
17 5 5 225/60-17 17X 1.0 38 - 38 - - 38 38 38 38 38 38 38 1.5J35 7.5J35 - -
Ja-y H24/06- F15/NF15 21HEXM12x1.25 66 |5/114.3| 18 225/45-18 18 X 7.0+47 225/45-18 18X 1.0 48 7.5)48 48 48 48 48 48 48 48 48 7.5J48 - -
[4-#"NISMO] 17 215/55-17 17 X 7.0+47 215/55-17 17X 1.0 48 48 - 48 48 6.5)44 48 48 48 48 48 48
16 - - 215/60-16 16 X 6.5 38 38 38 38 38
AN H26/02- #V3T1%R 21HEXM12x1.25 66 |5/114.3| 20 = - 245/35-20 20 X 8.5 35 35 35 35 35 35 35 8.0J35 38 8.0J35
(11 -] 19 245/40-19 19 X 8.5+50 245/40-19 19X 8.0 - - 35 35 35 35 8.5J38 35 - - - - - - -
*TPMSE 18 225/50-18 18 X 7.5+45 225/50-18 18X 8.0 - - ° 30 7.5)38 38 ® 43 40 38 38 2 7.5J38 ° - - - - -
17 225/55-17 17 X 7.5+45 225/55-17 17X 1.0 38 38 38 38 38 38
hd % R4/11- #C28% 21HEXM12x1.25 66 [5/114.3| 18 - 215/50-18 18X 7.0 48 48 - 48 48 48 48 MAWDT VT —EE
17 - - 215/55-17 17X 1.0 48 48 - 48 48 6.5)44 48 48 48 MAWDA VT —EE
16 205/65-16 16 X 6.0+45 205/65-16 16 X 6.5 - 48 48 48 48 48 HAWDA Y —EE
H28/09- #C27% 66 [5/114.3| 18 = = 215/40-18 18 X 17.0 48 - 48 - 48 48 48 48 -
17 ° ° 205/50-17 17X 1.0 48 - 48 - 48 48 6.5 44 48 48 48 48 48 48 - -
16 195/60-16 16 X 6.0+45 195/60-16 16 X 6.5 48 48 48 48 48
15 195/65-15 15 X 5.5+45 195/65-15 15X 6.0 - - - - - 43 43 45 45 -
TATT H26/02- #L33% 21HEXM12x1.25 66 [5/114.3| 19 - - 225/40-19 19X 8.0 45 48 45 45 7.5)48 45
18 - - 225/45-18 18 X17.0 48 7.5)48 48 - 48 48 48 48 48 48 7.5)48
17 215/55-17 17 X 7.5+50 215/55-17 17X 7.0 48 38 - 48 48 48 48 48 48 48 48
16 215/60-16 16 X 7.0+50 215/60-16 16 X 6.5 - 38 38 48 48 48
F1Z R1/03- B4#WHR 21HEXM12x1.5 56 | 4/100 | 16 - 165/45-16 16 X 5.0 45
FAAN=92Z H25/06- B21W% 15 165/55-15 15 X 4,5+46 165/55-15 15X 4.5 - 45 - 45 - 43 5.0J45 45 43 45 45 45 45 45 5.0J45 45 43 5.0J45 45 - -
14 155/65-14 14 X 4.5+46 155/65-14 14X 4.5 45 - 45 - 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 - -
13 = = 145/80-13 13 X 4.0 43 43 45 43 43 43
FaTYR H19/05- JI0/NJ10% 21HEXM12x1.25 66 [5/114.3| 19 - - 225/45-19 19X 8.0 45 48 45 38 7.5)48 45 38 -
KJ10/KNJ10FR 18 215/55-18 18 X 6.5+40 215/55-18 18X 7.0 8J45 7.5)38 38 - 48 38 38 48 48 48 7.5)38
17 215/60-17 17 X 6.5+40 215/60-17 17X 1.0 32 32 32 38 38 - a2 38 38 38 38 38 38 38 - 1.5J35 1.5035
16 215/65-16 16 X 6.5+40 215/65-16 16 X 6.5 - - - 38 38 38 38 38 7.0J35 7.0J35 7.0J35
J=bE=3 R2/12- E13 21HEXM12x1.25 60 | 4/100 | 17 - - 205/50-17 17X 6.5 - - 7.0J45 45 - 45 40 45 6.0J40 - 40 - - - -
aly 16 195/60-16 (185/60-16) 16 X 5.5+50 195/60-16 (185/60-16) 16 X 6.0 = - = 45 = 45 6.5J40 40 43 42 50 50 42 = 40
J=r314- 15 185/65-15 15 X 5.5+50 185/65-15 15X 5.5 - - 43 43 38 43 = - - - - - -
H24/08- E12/NE12/E123 60 | 4/100 | 17 205/45-17 17 X 7.0+47 205/45-17 17X 6.5 7.0J45 45 - 45 40 45 6.0J40 40
NISMO/NISMO-S 16 195/55-16 16 X 6.5+46 195/55-16 16 X 6.0 - - 45 - 45 6.5J40 40 43 2 40 40 42 40
15 185/65-15 15 X 5.5+40 185/65-15 15X 5.5 - - - - 43 38 43 43 - -
14 185/70-14 14 X 5.5+40 185/70-14 14X 5.5 38 38 43 5.0J35 5.0J35
7-1 H21/11- Y51/KY51/KNY51 21HEXM12x1.25 66 |5/114.3| 20 = = 245/40-20 20 X 8.5 35 35 35 35 35 35 35 8.0J35 38 8.0J35
T=HNAT YR KY51 M7k 19 = - 245/45-19 19 X 8.0 35 35 35 35 8.5J38 35 - - -
Y TPMSHIS *TPMSE 18 245/50-18 18 X 8.0+43 245/50-18 18 X 8.0 30 7.5J38 38 ° 43 40 38 38 4 7.5J38
17 = = 225/60-17 17X 7.0 38 - 38 38 38 38 38 38 38 38
X=F H25/06- K13 % 21HEX M12x1.25 60 | 4/100 | 16 205/45-16 16 X 7.0+46 195/45-16 16 X 6.0 - - - 45 - 45 45 43 50 50 42 - - - - -
*NISMO/NISMO S 15 185/55-15 15X 5.5 43 43 43 45 43 43 -
14 - 165/70-14 14X 5.5 45 45 43 5.0J35 5.0J35
=7 H29/10- ZE1%R 21HEX M12x1.25 66 |5/114.3| 19 = = 225/35-19 19X 8.0 48 - 45 45 7.5J48 45 = = - - - - -
18 - - 215/45-18 18 X 7.0 38 7.5J38 48 - 48 35 38 38 38 48 7.5J38
17 215/50-17 17 X 6.5+45 215/50-17 17X 1.0 38 38 - L] 38 6.5)44 38 38 38 38 38 38
16 205/55-16 16 X 6.5+40 205/55-16 16 X 6.5 - - - - - 38 38 38 38 38 7.0J35 7.0J35 7.0J35 - -
=92 R2/03- B45 21HEX M12x1.5 56 | 4/100 | 16 - - 165/45R16 16 X 5.0 45 - - -
B44 19HEXM12x1.25 15 165/55R15 15X 4.5 165/55R15 15X 4.5 45 45 - 43 5.0J45 45 43 45 45 45 45 45 5.0J45 45 43 5.0J45 45
14 155/65R14 14X 4.5 155/65R14 14X 4.5 45 45 - 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 - 155/65-13 13 X 4.0 43 43 45 43 43 43
H21/12- ML21S% 54/-| 4/100 | 16 = 165/40-16 16 X 5.0 45
15 = = 165/50-15 15X 4.5 - - 45 45 - 43 5.0J45 45 43 45 45 45 45 45 5.0J45 45 43 - - 5.0J45 45
14 165/55-14 14 X 4.5+50 165/55-14 14X 4.5 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 155/65-13 13 X 4,0+45 155/65-13 13X 4.0 43 43 45 43 43 43

B COVYFUIAMRRMESZIV - RA— YA 2B EIERLTVE T Iy F I AR EAOER- BRI L —F-HRICED YA XD RBBZBENBOE T LEY Y F U IR HETEEWEEE LT,

* TIVH—-UUTIVRER






